

Quote # Q-00679366

61 Months Term (12 Months Renewal Term)

TODAYS QUOTE TOTAL FOR 1 LOCATION(S)										
Recurring	Non-Recurring	Recurring Taxes & Fees	Equipment Sales Tax	Shipping	Due Today					
\$1,827.90	\$11,177.40	\$883.39	\$301.64	\$80.75	\$11,950.71					

Summary by Product			
Monthly Recurring	Quantity	Price as of Order	Total
X Series - X2 USA-DID	20	\$12.00	\$240.00
Base Number	1	\$0.00	\$0.00
X Series - X1 USA-DID	141	\$8.00	\$1,128.00
X Series - X4 USA-DID	4	\$32.25	\$129.00
Additional Local Number	4	\$1.00	\$4.00
Flex			
POLYCOM CCX 400 BUSINESS MEDIA PHONE POE FLEX	21	\$8.18	\$171.78
POLYCOM CCX 600 BUSINESS MEDIA PHONE WITH HANDSET FLEX	6	\$13.72	\$82.32
Polycom VVX 250PoE Flex	13	\$5.60	\$72.80
Non-Recurring			
8x8 Implementation Plus - Gold	1	\$4,900.00	\$4,900.00
Plantronics Savi 8220 Binaural Headset	10	\$243.15	\$2,431.54
Plantronics Voyager 5200 UC	20	\$129.79	\$2,595.86
Private Virtual Instructor Led Training - End-User	1	\$500.00	\$500.00
Public Virtual Instructor Led Training - Admin	1	\$750.00	\$750.00
		Subtotal	\$13,005.30

Thanks we appreciate You!
Enjoy One Month Free of
Services on us.
That's \$ 1,501.00 in Savings!

Quote Expires 1/31/2023

Town of Bluffton : 20 Bridge St Bluffton, South Carolina 29910

Tracye Stormer +1 843-706-4580 tstormer@townofbluffton.com

Your 8x8 Representative

Lisa Lopez lisa.lopez@8x8.com 209 666 8297

Today's Total \$11,950.71

Monthly Total \$2,711.29

61 Months Term (12 Months Renewal Term)

20 Bridge St, Bluffton, SC, USA, 29910				
Description	Quantity	Unit Price	Monthly Recurring	Due Today
X Series - X2 X Series feature usage shall not include SFDC or Bullhorn Integrati	20	\$ 12.00	\$ 240.00	\$ 0.00
Base Number	1	\$ 0.00	\$ 0.00	\$ 0.00
X Series - X1	141	\$ 8.00	\$ 1,128.00	\$ 0.00
X Series - X4 X Series feature usage shall not include SFDC or Bullhorn Integrati	4	\$ 32.25	\$ 129.00	\$ 0.00
8x8 Implementation Plus - Gold	1	\$ 4,900.00	\$ 0.00	\$ 4,900.00
POLYCOM CCX 400 BUSINESS MEDIA PHONE POE FLEX	(21	\$ 8.18	\$ 171.78	\$ 171.78
POLYCOM CCX 600 BUSINESS MEDIA PHONE WITH HANDSET FLEX	6	\$ 13.72	\$ 82.32	\$ 82.32
Polycom VVX 250PoE Flex	13	\$ 5.60	\$ 72.80	\$ 72.80
Additional Local Number	4	\$ 1.00	\$ 4.00	\$ 0.00
Plantronics Savi 8220 Binaural Headset	10	\$ 243.15	\$ 0.00	\$ 2,431.54
Plantronics Voyager 5200 UC	20	\$ 129.79	\$ 0.00	\$ 2,595.86
Private Virtual Instructor Led Training - End-User	1	\$ 500.00	\$ 0.00	\$ 500.00
Public Virtual Instructor Led Training - Admin	1	\$ 750.00	\$ 0.00	\$ 750.00
	-	Subtotal	\$ 1,827.90	\$ 11,504.30
	Shipping Ground- D	elivery Estimate Regulatory Fees	1/4/2023	\$ 80.75
		E911 Service Fee Regulatory Recovery Fee Taxes and Surcharges SC State And Local Sales Tax SC Local Business License Tax		\$ 0.00
	Regulato			\$ 0.00
				\$ 321.26
	SC Local Bus			\$ 0.00
	Federal Unive	rsal Service Fund	\$ 95.40	\$ 0.00
	SC Sta	SC State And Local 911		\$ 44.40
	Total Fees, Taxes and Surcharges		\$ 883.39	\$ 365.66

8x8

Quote # Q-00679366

61 Months Term (12 Months Renewal Term)

Location Total \$ 2,711.29 \$ 11,950.71



Quote # Q-00679366

61 Months Term (12 Months Renewal Term)

TERMS & CONDITIONS

This Order is subject to the 8x8 UCaaS/CCaaS Service Terms set forth at http://www.8x8.com/order-terms/vo-vcc-service-terms, except that if this Order is entered into pursuant to a Service Agreement, this Order is subject to the Service Agreement (such 8x8 UCaaS/CCaaS Service Terms or Service Agreement, as applicable, the "Terms").

<u>No Service Fees for One Month</u>: Customer shall not begin to incur Service Fees or Regulatory Fees for the Ordered SaaS Services ordered under this Order until the first monthly anniversary date of the effective date of the Agreement (as that term is defined in the Terms).

This Order is additionally subject to the Supplemental 8x8 Flex Program Terms set forth at www.8x8.com/order-terms/flex-terms

By signing below, the customer listed herein, through its authorized representative named below:

- a) acknowledges and indicates that it has reviewed the notice related to 911 and emergency services at https://www.8x8.com/terms-and-conditions/911-notice and
- b) has entered into this Order and agreed to the Terms, as of the date signed below.

Customer Name: Town of Bluffton	
Signature:	
Name:	
Title:	
Date:	